
1. x − y − 3 = 0 일 때, x2 − 2xy + y2 − 5x + 5y + 1 의 값은?

① −7 ② −5 ③ 1 ④ 3 ⑤ 5

x − y = 3이므로
(x − y)2 − 5(x − y) + 1 = 32 − 5 × 3 + 1

= 9 − 15 + 1 = −5

해설



2. x2 − 2xy + y2 + 2x − 2y − 3을 인수분해하면?

① (x − y − 3)(x − y + 1) ② (x + 2y + 3)(x − y − 1)

③ (x − y + 3)(x − y − 1) ④ (x − 2y − 3)(x − y − 1)

⑤ (x − y + 3)(x − 2y + 1)

주어진 식을 x에 관해 정리하면
x2 + (2 − 2y)x + y2 − 2y − 3
= x2 + (2 − 2y)x + (y + 1)(y − 3)
= {x − (y + 1)}{x − (y − 3)}
= (x − y − 1)(x − y + 3)

해설



3. √
0.96 은

√
6 의 x 배이다. 이 때, x 의 값은?

①
1

5
②

2

5
③

8

5
④

12

5
⑤

16

5

√
0.96 =

…
96

100
=

…
42 × 6
102

=
4

10

√
6 =

2

5

√
6

∴ x =
2

5

해설


